Jalculus AB

Homework — Riemann Sums

P

. Lltiple-Choice Questions: A graphing calculator is required for some questions.
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Free-Response Questions: A graphing calculator is required for some questions.

L. During a recent snowfall, several students
monitored the accumulation of snow on the
fat roof of their school. The table records
the data they collec ted for the 12-hour period
of the snoawfad].

Number of Hours | Rate of Snowfall (in./hour)
. 0
S 1.5
I 2.1
WS & 45 2.4
7 £y &. 5 28
LS 58 2.2
4,5 4105 1.8
1. 5( 1.6

{a] l_.!::;c a right- hand sum lo approximate the
total depth of snow in the 1 2-howr period.

by Using the vight-hand sum approxima-
tion, estimate the average rate of snow-
fall inthe 12-hour period.
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2.

A carslows down as it approaches a red lig

at an intersection. When the Hght t
green, the velocity of the car increases us

shown in the table.

Time t {sec) Velocity v {ft/sec)
O 3
2 b
4 22 )
& . |...._ 30
o8B 40
10 45

{a) Find the average vate of change of the
velocity v on the interval {0, 10].

(h) Approximate the distance maveled in the
first ten seconds nf«mﬁ five equal subin-
tervals.

{c) Approximate the acceleration of the car
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